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General Instructions :

(1)
(ii)
(iit)
(iv)

67/3

This question paper contains three parts A, B and C.
Part A is compulsory for all candidates.
Candidates can attempt only one part of the remaining parts B and C.

All parts of the questions should be attempted at one place.

HIT <h
(TSR WA qUT i o foT wEieR)
PART A
(Accounting for Partnership Firms and Companies)

31 fafiee 9 10 T Y% % 100 FHAT M Sl A 20% & Hfem w Frifia
T &, 5 T & f<m =ity Saw fiftem ot afafaa ], &1 e =
H W FWO W o | 5 1 37 Afrenan TN 1 3g@ hifere e w37 3
&1 YA i foham S gehan 7 |

A Ltd. forfeited 100 equity shares of ¥ 10 each issued at a premium of
20% for the non-payment of final call of ¥ 5 including premium. State the

maximum amount of discount at which these shares can be re-issued.

T ATEIGRT BH & Gied 1 31 G |

Give the meaning of ‘Reconstitution of a partnership firm’.

Ty Ifayfd o &9 § Forgai o ffoa & s it 2 2

What is meant by issue of debentures as collateral security ?

TS, 918 d97 9IS Hger & q9T %13—0 T % % U T AT HT AN
@Y | T BH H HATHIT B T | Y HIEGR % AU AT hl T
T |



X, Y and Z were partners sharing profits in the ratio of %, 3 and l

10 5
X retired from the firm. Calculate the gaining ratio of the remaining
partners.
5. T AU YA AIEER gRT W AfUSR w1 3g@ HIT | 1

State the rights acquired by a newly admitted partner.

6. I % FEAYY o YN T Grelell o GHGA q ‘Freied) BH & gaed’ |
FFa¥e i | 1

Distinguish between ‘Dissolution of partnership’ and ‘Dissolution of
partnership firm’ on the basis of Court’s intervention.

7. @ fafirs 3 10 T 98% & 10,00,000 THAT M & T & fow smmaed
AW 6T | 8,55,000 3= % [T TG WTH BT | &I HEdH 3=
TS <6l HRIATEl L Hohdl g 2 3194 I o THAT H HRUT ST | 1

D Ltd. invited applications for issuing 10,00,000 equity shares of ¥ 10

each. The public applied for 8,55,000 shares. Can the company proceed
for the allotment of shares ? Give reason in support of your answer.

8. < fafieg 4 1 319, 2012 1 100 T IIh & 5,000, 10% FOTGHAT 1 o=
fopa | i W ol &9 @ ATYGH goT | e 1 =@l % SIHER RO W
T YT 3MER W 30 fodwsw 991 31 A &1 < BT 2 A7 Jid T L hl
Hrdl 10% 2 |

31 A=, 2013 I THTH B It TeaTieh TS & TFaf-8d qT SRO9] o STl
! AH-gI forawor d comT=aia w2 ot stavaess UsHm=n gfafsar hife | 3

Tata Ltd. issued 5,000, 10% Debentures of ¥ 100 each on 15 April, 2012.
The issue was fully subscribed. According to the terms of issue, interest
on debentures is payable half-yearly on 30th September and 31%* March
and tax deducted at source is 10%.

Pass the necessary journal entries related to the debenture interest for
the half-yearly ending on 315t March, 2013 and transfer of interest on
debentures to Statement of Profit and Loss.

67/3 3 P.T.O.
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Fatafga afifeafaat § stravas Tsam=n gfatsar Hif -

()  GTsw fEafes 9 100 T 98% & 500, 9% FOgHl et T 10% &+
§g W TR T oon, 1 100 T TS & THAT A H YRAfdd ik
fora | g\aT 3190 B 25% o iftem 9w feifea fomem mam om

Gi) Teeren fafies 3 100 T &8 & 3,000, 12% Forg=n e fia
10 T 9fd oMM & &g W foRaT =7 o1, 1 MEE 3= 100 T IS 5
THAT 33 ST 90 T Tid A Yo 9, H giaidd shieh fohaT |

Pass necessary journal entries in the following cases :

1) Sunrise Ltd. converted 500, 9% debentures of ¥ 100 each issued at
a discount of 10% into equity shares of ¥ 100 each issued at a

premium of 25%.

(i)  Britannia Ltd. redeemed 3,000, 12% debentures of ¥ 100 each
which were issued at a discount of ¥ 10 per debenture by

converting them into equity shares of ¥ 100 each, ¥ 90 paid up.

B a7 9= T ®H § ATSIER 9 991 3 : 2 % ITUTd H ATl T Seai
W® o | 3Tl ISt A 1,60,000 T 3R 1,00,000 T off | 1 30, 2013 =
S8 Tl At | 1/5 9T % foTe S i AU |meier % w9 # gfaw feE
e A9 4SS ®9 H 1,20,000 T AR | B hH TN ok oI Hi UM
HINT qoT ITYH Al o T FHS o JoS T eI s Jfaisat

HIfT |

Hemant and Nishant were partners in a firm sharing profits in the ratio

of 3 : 2. Their capitals were ¥ 1,60,000 and ¥ 1,00,000 respectively. They

admitted Somesh on 15" April, 2013 as a new partner for 1/5 share in the
future profits. Somesh brought ¥ 1,20,000 as his capital. Calculate the
value of goodwill of the firm and record necessary journal entries for the

above transactions on Somesh’s admission.



11.  Hif4eh1, Hifeh1 a1 T30 T HH | AreigR off a1 shus: 2: 2 : 1% {9 §
i o fawriorg s @ off | 31 |, 2013 1 IR feafa faemor f=ferfaa

97 .
31 U, 2013 i fearfa fererm

g Tl Fraf 3,60,000
aifFsst  1,80,000 wih 60,000
ot 1,50,000 STER 1,20,000
LR _ 90,000 4,20,000 | Uhg 2,70,000

T HIY 1,50,000

TR 2,40,000
8,10,000 8,10,000

30 5d, 2013 I Hil-eht hH g &1 T8 | I AERT IR IGh IAUDRT
o= wgald g3 o

(31) U I TAIMT BT GeATohd TUS IR i o 7Ed o9 o 3 TN o I &
SIS I | 37Ed 19 2,00,000 T 2T |

(F) St W 129 aiteh & & A TG S |

(|) Hog A iy qo6 ol 4 I5eh feed o oA fUsd TR 9wl % SfEd aw
o 3TER T h T |

30 S, 2013 I HifehT 1 ISt @IAT dIR HINT | 4

67/3 5 P.T.O.



67/3

Monika, Sonika and Mansha were partners in a firm sharing profits in
the ratio of 2 : 2 : 1 respectively. On 315 March, 2013 their Balance

Sheet was as under :

Balance Sheet as on 315t March, 2013

Liabilities AmOunt | 4 sets Amount
Capitals : Fixed Assets 3,60,000
Monika 1,80,000 Stock 60,000
Sonika  1,50,000 Debtors 1,20,000
Mansha 90,000 | 4,20,000 | Cash 2,70,000
Reserve Fund 1,50,000
Creditors 2,40,000
8,10,000 8,10,000

Sonika died on 30" June, 2013. It was agreed between her executors and

the remaining partners that

(a)  Goodwill of the firm be valued at 3 years’ purchase of average

profits for the last four years. The average profits were I 2,00,000.
(b)  Interest on capital be provided at 12% p.a.

(c) Her share in the profits upto the date of death will be calculated on

the basis of average profits for the last four years.

Prepare Sonika’s Capital Account as on 30" June, 2013.
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Mt fefieg i geaent # Frfefaa wmet & fote smaveass smm=n gfafsat
T - 4

()  O9" BT A ¥ 2,50,000 T o HAER T hA [HAT | HEH BAeR 01E
I PIAE 10 T Tcdeh o Tual 370 Bl 25% o Nfem w fifia ws
e T |

(i) oA fafie & 15,00,000 T St AR &1 T =7 od™ Gl Faw
12,00,000 T T YTAE 10 T T & qUI Jed dWal 39 gRI qel A9
Tfst &1 & ge g fem mn | ket qen oiea fefafea @
grefad o -

T (W) 3,50,000 T; Fih 4,50,000 T; 9 TI Had 6,00,000 T;
fafarer @er 1,00,000 = |

Pass necessary journal entries for the following transactions in the books

of Gopal Ltd. :

(1) Purchased furniture for ¥ 2,50,000 from M/s Furniture Mart. The
payment to M/s Furniture Mart was made by issuing equity shares

of ¥ 10 each at a premium of 25%.

(ii))  Purchased a running business from Aman Ltd. for a sum of
T 15,00,000. The payment of ¥ 12,00,000 was made by issue of
fully paid equity shares of ¥ 10 each and balance by a bank draft.

The assets and liabilities consisted of the following :

Plant ¥ 3,50,000; Stock ¥ 4,50,000; Land and Building
T 6,00,000; Sundry Creditors ¥ 1,00,000.

7 P.T.O.
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firg wd TET ¥ %A hHd T S AT S b T U FWiEiei) BH IE S
Tvie forn wifer wonfeess a1 fafie gopR <hl wiieror grasfi gaemd 3cqe
® 9 | 39 T 3784 1 38, 2012 1 HEN: 1,00,000 T T4 50,000 T <hl
ISt e | @s | a8 A Wik @ foer oot o @R % 9 W W § ufas
HH hl AT TTST A bl | Wk IGHT [ORIT ®I T I Al A [4eh
g T gigAH 9 28 | 791 9 38 &ier & fon | |l 6 wd
Freafafaa o -

(i) T8, 79 w@ oItk 2:2: 1% UG § ATHi T deai S |

(i) S W 6% MY X & =S fean ST |

gt <t AT <k HRUT 30 FHareR, 2012 ® 8 ° 25,000 T qAT 1 S, 2013
I TET H 10,000 T i Affed IS @ | 31 WG, 2013 1 EE BH AT
Iy & T ®H &1 &9 1,68,900 T T |

(1) UH B3 T YoI IgATHT S BH FHNS sl TEITSA ST =18t © |
(d) 31 9, 2013 % GHTE BH 911 99 o fore anw-gtie fafeenem @ dam

S |

Singh and Gupta decided to start a partnership firm to manufacture low
cost jute bags as plastic bags were creating many environmental
problems. They contributed capitals of ¥ 1,00,000 and ¥ 50,000 on
15t April, 2012 for this. Singh expressed his willingness to admit Shakti
as a partner without capital, who is specially abled but a very creative
and intelligent friend of his. Gupta agreed to this. The terms of
partnership were as follows :

1) Singh, Gupta and Shakti will share profits in the ratio of 2 : 2 : 1.
(i1)  Interest on capital will be provided @ 6% p.a.

Due to shortage of -capital, Singh contributed ¥ 25,000 on
30th September, 2012 and Gupta contributed ¥ 10,000 on 15 January,
2013 as additional capital. The profit of the firm for the year ended
315t March, 2013 was ¥ 1,68,900.

(a) Identify any two values which the firm wants to communicate to
the society.

(b)  Prepare Profit and Loss Appropriation Account for the year ending
315 March, 2013.
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1 3, 2012 I 50,00,000 T HI Afeha IS o A1 ATgehI-&Hh A &1
frmfor fopam T S 10 T Y= & 5,00,000 THAT 90 T fawiioa oft | Rt A
4,50,000 Tuar 3N & foru wfgawor fanifia o e smmfa fehe | ot =i
4,20,000 THAT 30 o AT 3TEET TH §T | oW a9 H o1 4 8 T T 31
Sl e A | B 31,000 ST HT G AT qAT TS A S 2,000 A
1 9Th AT, 2 T Ul T h1 JUW JT=HT TRT 1 YIAE T8l 3T | 99 AT
o &1 TSI o 37T T 0T Y foTaT T 9 &1 § g401 fohu U 1,500 3730 i
6 T ufd 3791, 8 T ATfad W g=: Fifera s feam mm |

fafafea el -

(27) ot Afaf, 1956 s afEnad Reft VI 90T 1% STER It &
feafa foemor o arer St |
() 3t & fau @ral & g’ o TR |

On 1% April, 2012, Micro-tech Ltd. was formed with an authorised capital
of ¥ 50,00,000 divided into 5,00,000 equity shares of ¥ 10 each. The
company issued prospectus inviting applications for 4,50,000 equity
shares. The company received applications for 4,20,000 equity shares.
During the first year, ¥ 8 per share were called. Trilok holding
1,000 shares and Rajesh holding 2,000 shares did not pay the first call of
T 2 per share. Rajesh’s shares were forfeited after the first call and later
on 1,500 of the forfeited shares were re-issued at ¥ 6 per share, ¥ 8

called up.
Show the following :

(a)  Share Capital in the Balance Sheet of the company as per revised
Schedule VI Part I of the Companies Act, 1956.

(b)  Also prepare ‘Notes to Accounts’ for the same.

9 P.T.O.
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o, Gofld o Sfdd T ®H H HEer 3 S hred o © ¥ | 9
5:3:2% U@ W ATHI T Feal B @ A | 1 3T, 2012 1 kT Iofl
U 1,00,000 T, 2,00,000 T AT 4,00,000 T ff | IW@IE § &G AW &
e, gt g 3 At &9 @ o1 fifgdl i ggrar s 1 ol form |
38 foTU TSflg 9 1 ST, 2012 S BH § 10,000 T 1 ATEWT foham | Tsfla
3 U T MR A I 37T BY H 14,000 T o Hraa fow R a1¢ difgar
¥ 3= wie fer | gl v, S\ 4 31 fewwr, 2012 1 ol ¢St €
1,50,000 T T ATE foham 3R a1g wunfad & H Afsshat glaemd yg@ & &
fTT wep e <hl T

TEER Hei@ o IR MW W Ufd a9 6% il & & = foren smem | 3ifaw
@Td IR & o d91¢ I8 I 7 foh e WA A8 forn e | Stavae
TS Tty hif qen s fewafirn st e &9 9 ezt | @ gl &
T 1t Ig@ HINT S A FIEER TS Sl FEING HET =& @ |

Rajeev, Sanjeev and Jatin were partners in a firm manufacturing

blankets. They were sharing profits in the ratio of 5 : 3 : 2. Their capitals
on 15% April, 2012 were ¥ 1,00,000, ¥ 2,00,000 and ¥ 4,00,000
respectively. After the flood in Uttarakhand, all partners decided to help

the flood victims personally.

For this Rajeev withdrew ¥ 10,000 from the firm on 15¢ October, 2012.
Sanjeev instead of withdrawing cash from the firm took blankets
amounting to ¥ 14,000 from the firm and distributed those to the flood
victims. On the other hand, Jatin withdrew ¥ 1,50,000 from his capital
on 315 December, 2012 and set up a centre to provide medical facilities in
the flood affected area.

The partnership deed provides for charging interest on drawings @ 6%
p.a. After the final accounts were prepared it was discovered that interest
on drawings had not been charged. Give the necessary adjusting journal
entry and show the working notes clearly. Also state any two values

which the partners wanted to communicate to the society.

10



16.

67/3

&% AT S[EE T WH o AHGR o Q1 3101 Yol o I H o died o |
31 9T, 2013 = 31 fEfd foreor 7 wom o -

31 HT, 2013 Tl gt a9 S[aig o Teorfa feamor

[SECL 1,50,000 | S 2,00,000
FHar afagfd Ffa 3,00,000 | TG 3,40,000
A o 75,000 | Wi (¥2fe) 1,50,000
g% <Rl =Tc] Gl 25,000 | HTeRX 4,60,000
g ENIEE] 8,20,000
g% 10,00,000 &G 1 <Te] @Il 80,000
S[eIG 5,00,000 15,00,000
20,50,000 20,50,000
Sk fafsr st o o1 TwTE B T |

() SR ¥ 5% 9 W aHell 8% | TN 7 50% Wil (Rfh) T&dh oI §
10% %A Hed T S o1 | 29 WA & 65,000 T § o= feam T |

(i) 5@ 7 1,35,000 T H Fler o o | #efd 61 a1$ H 74,000 T H
CEREOIRIDIN

(iii) QNI ol YOI YA fehaT T |
(iv) 8,000 T < FEL AT T PIAE &% + R |
A @A GIR HINT | 6

11 P.T.O.
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Hanif and Jubed were partners in a firm sharing profits in the ratio of
their capitals. On 315 March, 2013 their Balance Sheet was as follows :

Balance Sheet of Hanif and Jubed as on 31%¢ March, 2013

A t A t
Liabilities T2 | Assets e
Creditors 1,50,000 | Bank 2,00,000
Workmen’s Compensation Fund | 3,00,000 | Debtors 3,40,000
General Reserve 75,000 | Stock 1,50,000
Hanif’s Current Account 25,000 | Furniture 4,60,000
Capitals : Machinery 8,20,000
Hanif 10.00.000 Jubed’s Current
A Account 80,000
Jubed 5,00,000 15,00,000
20,50,000 20,50,000
On the above date the firm was dissolved.
1) Debtors were realised at a discount of 5%. 50% of the stock was

taken over by Hanif at 10% less than the book value. Remaining
stock was sold for ¥ 65,000.

(i1)  Furniture was taken over by Jubed for ¥ 1,35,000. Machinery was

sold as scrap for ¥ 74,000.

(i1i)  Creditors were paid in full.

(iv) Expenses on realisation ¥ 8,000 were paid by Hanif.

Prepare Realisation Account.

12
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farer qon Ufgd o w0 § ARGk 4 991 7 0 3 % AU H oY dfed o |
1 379, 2013 Sl 3814 Hid bl BH & A9 H 1/4 9T % ¥ Tk 9T G189 &
9 T TlE AT | A 4,30,000 T 391 ISf o fI@ a1 25,000 T 319+ T1(d
Hifm & 9w o fou @& | 1 31w, 2013 i fIRer qen Ufga w1 feurfa faewo

e o
1 38T, 2013 <A1 OrER a2 Ufga = feafa feewm
S Tfsr S qfsr
T T
g ff qen wad 3,50,000
et 8,00,000 TR 4,50,000

GIGR 2,20,000

Ufgd 3,50,000
11,50,000 o2 g9 - 20,000 2,00,000

~

= Ty 1,00,000 | ¥k 3,50,000
Freart afagfd fafy 1,00,000 | U 1,50,000
TR 1,50,000
15,00,000 15,00,000
EEACEERSEIRIDIRES

i) W qA a1 eI 20% FEHET AW |
(i) A 1 qed 10% H Toharm Sarm |
(iii)  wHUERl @fagfd e 6 T 50,000 T Fivaa 61 g |

(iv) T qun Ufgq &t 36 *fa g @R T8 Ot 6 YR W aErita 6
STUrt 3R 3ok T STERIehd o Ushe TR AWM AT $HehT T
feRam StT@m |

YT TTdT, |EIGRT  YSil @Td a1 15 %H o1 fefa foewor aam Shifvw | 8

HAAT

13 P.T.O.



U, TH Q1 U7 T B8 § HEGR 4 Q1 2:1: 19 UG § oy died 9 |
1 319, 2013 Wi 37! Fearfa ferewor feTgam o

1 318, 2013 1 T, TH dAT UF A1 ferfa feemor

T T

il v 8,00,000

T 6,00,000 o 6,00,000

™ 4,80,000 e 2,40,000

« 4,80,000 15,60,000 ?ammm 4% 3.80,000
g 999 4,40,000 | T2k 4,40,000
Har afagfd Ffa 3,60,000 | Ths 1,40,000
B 2,40,000

26,00,000 26,00,000

39 fafyr 1 T 3 Sraehrer wgw foRa |
frfafga fofg fore o .

(i) U oh! ©AT T AR 6,00,000 T fopam T |

(i) | T I 40% FERET FCH A W99 | 1,00,000 T H GoIg™
T ST |

(iii) =R 9 30,000 T 1 eAgE AT S |

(iv) e afaqfd FfY s g 1,60,000 T Ffeed g3 |

(v) T I o TR I Iqeh RO WA § TAFIRG R S |

(vi) TS a°1 TH i Yt I 3ok T ATH AT H FHEISG Tohal ST qel
38k ToTT ATSIER o =T @Td @ied S |

QG @A, HISIGRI o Yoil WTd a°1 93 BH o1 i foawo samu |

67/3 14




Shikhar and Rohit were partners in a firm sharing profits in the ratio of
7 : 3. On 1% April, 2013 they admitted Kavi as a new partner for 1/4
share in profits of the firm. Kavi brought ¥ 4,30,000 as his capital and
T 25,000 for his share of goodwill premium. The Balance Sheet of
Shikhar and Rohit as on 15¢ April, 2013 was as follows :

Balance Sheet of Shikhar and Rohit as on 15 April, 2013

A t A t
Liabilities T | Assets e
Capitals : Land and Building 3,50,000
Shikhar 8,00,000 Machinery 4,50,000

Debtors 2,20,000

Rohit  3,50,000 | 11,50,000 Less provision 20,000 2.00.000

General Reserve 1,00,000 | Stock 3,50,000
Workmen’s
Compensation Fund 1,00,000 Cash 1,50,000
Creditors 1,50,000

15,00,000 15,00,000

It was agreed that
) the value of Land and Building will be appreciated by 20%.
(i1)  the value of Machinery will be depreciated by 10%.

(i1i)  the liabilities of Workmen’s Compensation Fund was determined
at ¥ 50,000.

(iv) capitals of Shikhar and Rohit will be adjusted on the basis of
Kavi’s capital and actual cash to be brought in or to be paid off as
the case may be.

Prepare Revaluation Account, Partners’ Capital Accounts and the
Balance Sheet of the new firm.

OR
67/3 15 P.T.O.



L, M and N were partners in a firm sharing profits in the ratio of 2 : 1 : 1.
On 15 April, 2013 their Balance Sheet was as follows :

Balance Sheet of L, M and N as on 1% April, 2013

Liabilities Amount |\ sots Amount
Capitals : Land 8,00,000
L 6,00,000 Building 6,00,000
M 4,80,000 Furniture 2,40,000
N _4,80,000 15,60,000 Ei):(;;sovision 4’(2)8:888 3,80,000
General Reserve 4,40,000 | Stock 4,40,000
&Oéiﬁs:aiion Fund 3,60,000 | “3sh 1,40,000
Creditors 2,40,000
26,00,000 26,00,000

67/3

On the above date N retired.
The following were agreed :
1) Goodwill of the firm was valued at ¥ 6,00,000.

(ii) Land was to be appreciated by 40% and Building was to be
depreciated by ¥ 1,00,000.

(iii) Furniture was to be depreciated by ¥ 30,000.

(iv)  The liabilities for Workmen’s Compensation Fund was determined
at ¥ 1,60,000.

(v)  Amount payable to N was transferred to his loan account.

(vi)  Capitals of L and M were to be adjusted in their new profit sharing
ratio and for this purpose current accounts of the partners will be
opened.

Prepare Revaluation Account, Partners’ Capital Accounts and the
Balance Sheet of the new firm.
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18. U a7 f[aifes 3 10 T I & 90,000 THAT 3130 &l 5 T Ufd 77 & Hfem
T frifa @ & Tt saes = forw | afyr g o @ 2 oft .

JTEEH AT e W — 10 T ufd 7w (Sfifrm afzga)
Y| Ud | AR W - A G |

2,70,000 31 % Y 3TEEH ST BT | 90,000 37 < feTY 3TEEH! i & H
faam TR Qe SATeEA TR 198 G TS | AT HTAGH hl AR AR W
TN ST 3TMee hL feam T | Jem ar Afw I Uiy 6in off 18 | Fad
Tifare, &= 1,800 23901 & oI 3Tee fopam o, 1 Siget guEd TR U6 &
TS | ek IR BT ET K T T | 701 R MU 7N Rl 8 ¥ Wi ot W o
Ye&d qA: Tt o feam |

STIh ST o ToTu el shl q&aehl § 3TTeveh Ustrg=n Ifafsat i | 8

HYAT

St a8 faAfiee 3 10 T I8 & 85,000 THAT 3T Sl 10% % 52 W rifad
F & fIU 31eed smafad feu | afyt = v @ & o -

JTe qUT e W — 4 T Ifd 379
T U9 3Tf—dH Ir=FT W — I YT |

2,00,000 371 % Y TG I8 8T | 30,000 379N o Y STMeEAl i &
fgam T Qe STae AR A" H G S | AT ATAGehI ol STTUTNID MU W
M T 3TTeeA o Teqm T | wom qen rf=a| I Uiy win off 78 | haw B4,
e 1,700 2991 & fo9U 3tEed fopam o, <l i 9L 9= 9TH & T |
3Ieh 3TN T BLUT L Tl AT | BT TR 71T 7M1 1 T g TG SATehan
Sg1 Ui W g fifia o feam m

ST T o ToTT SHrot <hl Jdehl H 3TTa9aesh Usia= Tfafdar i | 8

67/3 17 P.T.O.
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NY Ltd. invited applications for issuing 90,000 equity shares of ¥ 10 each

at a premium of ¥ 5 per share. The amount was payable as follows :
On application and allotment — ¥ 10 per share (including premium)

On first and final call — the balance amount.

Applications for 2,70,000 shares were received. Applications for
90,000 shares were rejected and money refunded. Shares were allotted on
pro-rata basis to the remaining applicants. The first and final call was
made. The amount was duly received except on 1,800 shares applied by
Govind. His shares were forfeited. The forfeited shares were re-issued at

T 8 per share fully paid-up.

Pass necessary journal entries for the above transactions in the books of

the company.

OR

GY Ltd. invited applications for issuing 85,000 equity shares of ¥ 10 each

at a discount of 10%. The amount was payable as follows :
On application and allotment — ¥ 4 per share

On first and final call — the balance amount.

Applications for 2,00,000 shares were received. Applications for
30,000 shares were rejected and money refunded. Shares were allotted on
pro-rata basis to the remaining applicants. The first and final call was
made. All money was received except on 1,700 shares applied by Hari.
His shares were forfeited. The forfeited shares were re-issued at the

maximum discount permissible under the law.

Pass necessary journal entries for the above transactions in the books of

the company.
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19.

20.

21.

22.

67/3

TR &
(Terfiar fereont <At fergeaon)
PART B

(Financial Statements Analysis)

Uehg JaTg forawor’ I SR STan ? 2 3g@ hife |
Why is ‘Cash Flow Statement’ prepared ? State.

Tehg JaTg foremur ST a9y Uehg Toge™ ol T 319 3§ ?

What is meant by ‘Cash Equivalents’ while preparing Cash Flow
Statement ?

forchta faawort & favamo & forell ek 3e99 &1 3g@ HifvT |

State any one objective of financial statements analysis.

Hrot fufEm, 1956 i afEnfad g VI 91 196 S8R &l & fedfda
T § T 92 fopa Su-sfident & F=aiiq ewis Sy .

i) IS =
(i) s\

(ii) | W T kO
(iv) dred

(v) @t

(vi) GaU AR

Under which sub-headings will the following items be placed in the
Balance Sheet of a company as per revised Schedule VI Part I of the
Companies Act, 1956 :

1) Capital Reserves

(11) Bonds

(i1i) Loans repayable on demand
(iv)  Vehicles

(v)  Goodwill

(vi)  Loose tools

19 P.T.O.



23. 3191 fafiee = 31 A, 2013 1 wHE FU AN W fou f gt faewor @
TcHeh 48T foawor dam i
e _ _
e ) 2012 -13 | 2011 -12
HET F F
T | 9T 3 20,00,000 | 18,00,000
3T 3 4,00,000 6,00,000
oqq 19,00,000 | 17,00,000
3 TS 50% At |
From the following Statement of Profit and Loss of Ajanta Ltd. for the
year ended 315 March, 2013, prepare a Comparative Statement of Profit
and Loss :
. Note | 2012 -13 | 2011 —-12
Particulars
No. 3 T
Revenue from operations 20,00,000 | 18,00,000
Other Incomes 4,00,000 6,00,000
Expenses 19,00,000 | 17,00,000
Rate of income tax was 50%.
24. (31) U I I WAl JJIG 1.5 : 18 | HRU dlgd 3g@ hiog 6

frafcfeq oFeAl & 3gud § () gfg 8Ff; (i) ST R AT (iii) g
qiEde 98 3T -

(1) 3,000 T foRT =1 AW Yram fopam T |

(2) AU T H Uk oder off oeies afmfard on e 2w iy
9,700 ¥ T YOI YT L f&m |
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C)

(a)

(b)

o o 0

fFfaRad g=m1 & “Tarfied STgara <l AT HifT

-
APEANIEiER 2,00,000
APEIRICRCIRIEE 1,00,000
IS REAIRIC] 50,000
3T aREHa T 3,60,000
1] TR 90,000 4

The quick ratio of a company is 1-5 : 1. State with reason which of
the following transactions would (i) increase; (ii) decrease or

(iii) not change the ratio :
(1) Paid rent T 3,000 in advance.

(2) Trade receivables included a debtor Shri Ashok who paid his

entire amount due ¥ 9,700.

From the following information compute ‘Proprietary Ratio’ :

z
Long Term Borrowings 2,00,000
Long Term Provisions 1,00,000
Current Liabilities 50,000
Non-Current Assets 3,60,000
Current Assets 90,000
21 P.T.O.



25. Towe! fafade i 31.3.2013 1 31.3.2012 < et foaawor § & 18 g1
YR R Uhg Yarg oo dar Hifsre
31.3.2013 31.3.2012
ferazon T T
I — QUdT 9T SIaT :
1. | sfvremes fafert
(1) T gt 2,00,000 1,50,000
() G= ug i 90,000 75,000
2. | A ﬁ??l'dTﬁ :
Sefehlete 0T 87,500 87,500
3. %n?'[\%?:mi :
ST It 10,000 76,000
e 3,87,500 3,88,500
II - gfeEra it
1. | 3T gl
(31) Tormft UiErgtET
(i) gt aferafa 1,87,500 1,40,000
(F) srue faw 1,05,500 1,02,500
2. %ITFLWﬁ'HTQﬁ?ﬁ' :
(31) =y fafam (fospar-am) 12,500 33,500
(9) w2 (A=) 4,000 5,500
(@) T gTfeEt 9,500 23,000
(3) Thg AT Uhs qod 68,500 84,000
HA 3,87,500 3,88,500
WAl & Aed
e 1
r— 2013 2012
T T
TOT T AT
s (e A Fe 5 a) 90,000 75,000
67/3 22




Prepare a Cash Flow Statement on the basis of the information given in

the Balance Sheet of Simco Ltd. as at 31.3.2013 and 31.3.2012 :

Note | 31.3.2013 31.3.2012
Particulars No. F F
I - Equity and Liabilities :
1. | Shareholder’s Funds:
(a) Share Capital 2,00,000 1,50,000
(b) Reserves and Surplus 90,000 75,000
2. | Non-Current Liabilities :
Long Term Borrowings 87,500 87,500
3. | Current Liabilities :
Trade Payables 10,000 76,000
Total 3,87,500 3,88,500
II - Assets :
1. | Non-Current Assets :
(a) Fixed Assets:
(i) Tangible Assets 1,87,500 1,40,000
(b) Non-Current Investments 1,05,500 1,02,500
2. | Current Assets :
(a) Current Investments (Marketable) 12,500 33,500
(b) Inventories 4,000 5,500
(c) Trade Receivables 9,500 23,000
(d) Cash and Cash Equivalents 68,500 84,000
Total 3,87,500 3,88,500
Notes to Accounts
Note 1
Particulars 2013 2012
3T 3T
glf:;fl‘;e(%z;icselﬁp Slgstement of Profit & Loss) 90,000 75,000
67/3 23 P.T.O.




19.

20.

21.

22,

23.

24.

25.

67/3

" T
(stfrenfers eraTe)
PART C
(Computerised Accounting)

ra-YTcHeh SIEed o1 2 ?
What is relational database ?

STTETIHAT [Tl T & 2
What is requirement analysis ?

AMRIATT TAGTHT T o Teh Udeh o ®9 H ‘(RS bl T 7Y 8 ?
What is meant by ‘data’ as a component of Computerised Accounting
System ?

AR AQTRT T o Tehegl l AT qAT Teh HHT ol THATST |

Explain any two advantages and one limitation of Computerised
Accounting System.

ST JeToht0T & /AT AT ¢ ? UH QI IS8 ST 6 Hed Il bl G A
Hd 3N 39 HRUEY I g guid § |

What is meant by data validation ? Give two examples when cell will give
error if the values are not meeting the conditions.

‘SEHTT TRTEH qAT T greTe’ B fohedl TR Mg W SFwavig I |
Differentiate between ‘Desktop database’ and ‘Server database’ on any
four basis.

freferiad a1 & T Tfvet <6t o o fofe, teel W g3 < 0T i

(1) 91 W % U, g 999 25,000 T T 25% H @ F AT THH FW
30% T W H |

(F) I F9 % U, qA a9 25,000 T T 25% 1 R T TAT 396 SN 30%
HIH |

(|) g da o TOIQ, I 9a- § I 9T ASHL qAT I 30T T2 |

Calculate the formulae from the following information on Excel for

computing the amounts of :

(a)  Travelling Allowance, Basic Pay upto ¥ 25,000 at 25% and above it
at 30%.

(b) Loan Payable, Basic Pay upto ¥ 25,000 at 25% and 30% above
that.

(c) Net Salary, adding Travelling Allowance and deducting Loan
Payable from Basic Pay.
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Q.Set No. Marking Scheme 2013-14 Distribu
67/ | 67/ | 67/ Accountancy tion of
112 |3 Outside-67/3 marks

Expected Answers /Value points
6 7 1 QAL reissued. 1 mark
Ans. These shares can be reissued upto a discount of ¥ 7 per share or ¥700.
4 5 2 Q. GIVe....oitreenneiseerinieennsnssssssssenneenns firm 1 mark
Ans. Reconstitution of a partnership firm means any change in existing agreement among the
partners.
7 1 3 Q. What....ccooeeeeeeeeirieeee e, security. 1 mark
Ans. It means issue of debentures as an additional or secondary security in addition to
principal security for taking loan.
1 4 4 Q. X,Y and Z Were.......cooeeeeeiinnnennnssisnniienennnnes remaining partners. 1 mark
Ans. Y’s gain = 3/5-3/10 = 3/10
Z's gain=2/5-2/10=2/10
Gaining ratio = 3:2
2 6 5 Q. State the ....ccceeriiereeeccccce e partner. Bh+¥=
Ans.(a) Right to share profits with other partners in agreed ratio. 1 mark
(b)Right to share in the assets of the business.
3 3 6 Q. Distinguish between .........cccccceceeeeeerrennnne intervention. 1 mark
Ans.
Basis Dissolution of Partnership Dissolution of Partnership
Firm
Court intervention Court doesn’t intervene A firm can be dissolved by
because partnership is court order.
dissolved by mutual
agreement
5 2 7 [0 T D I K o FO PP answer. 1 mark
Ans. Allotment of shares can’t take place as minimum subscription is not received which
should be 90% of shares offered for subscription or 9,00,000.
9 10 | 8 Q. Tata ltd. cooevvieeieeee e, loss.
Ans.
In the books of Tata Ltd.
Journal
Date Particulars LF| Dr(X) | Cr(R)
2013 Interest on debentures A/c Dr. 25,000
March 31 | To Debentures holders A/c 22,500
To Income tax payable A/c /TDS 2,500
from Debenture Interest a/c 1
(Being interest due)
March 31 | Debenture holders A/c Dr. 22,500
To Bank A/c 22,500 1
(Being interest paid)
March 31 | Income Tax Payable / TDS from
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* %

Debenture Interest A/c Dr.
To Bank A/c
(TDS deposited with Income Tax authorities)

2,500

2,500

March 31

Statement of Profit & Loss Dr.
To Interest on Debentures A/c
(Being interest transferred)

50,000

50,000

** NOTE: No marks to be deducted in case student has not passed this entry.

1
(1+1+1)
=3
Marks

10

Q. Pass NECESSANY.....ccuuirreeneniiirennnisinennsinennns paid up.

Ans. (1)

In the books of Sunrise Ltd.

Journal

Date

Particulars

LF

Dr (%)

cr(X)

9% Debenture A/c Dr.
To Discount on issue of Debentures
To Debenture holder A/c

(Being debentures redeemed by
conversion)

50,000

5,000
45,000

Debenture holder A/c Dr.
To Equity Share Capital A/c

To Securities Premium A/c

(Amount due to debenture holder on
conversion by issue of 360 equity shares)

45,000

36,000
9,000

OR Alternative Answer

In the books of Sunrise Ltd.

Journal

Date

Particulars

LF

Dr (%)

cr ()

9% Debenture A/c Dr.
To Debenture holder A/c

(Being debentures redeemed by

conversion)

50,000

50,000

Debenture holder A/c Dr.
To Equity Share Capital A/c

To Securities Premium A/c

(Amount due to debenture holder on
conversion by issue of 400 equity shares)

50,000

40,000
10,000

(m

In the books of Britannia Ltd.

Journal

Date

Particulars

LF

Dr (%)

cr(X)

12% Debenture A/c Dr.
To Discount on issue of Debentures
To Debentures holder A/c

(Being debentures redeemed by
conversion)

3,00,000

30,000
2,70,000

Debenture holder A/c Dr.
To Equity Share Capital A/c
(Being 2,700 shares issued)

2,70,000

2,70,000
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Alternative Answer

In the books of Britannia Ltd.

Journal
Date Particulars LF Dr (X) Cr (%)
12% Debenture A/c Dr. 3,00,000
To Debentures holder A/c 3,00,000 i
(Being debentures redeemed by
conversion)
Debenture holder A/c Dr. 3,00,000
To Equity Share Capital A/c 2,99,970
To Bank A/c 30 1
(Being 3,333 shares issued & fractional
amount is paid in cash) (172 x2)
=3
Marks
8 9 10 | Q. Hemant.....cccccooeccniiiieeeeeeeeeee, admission.
Ans.
Journal
Date Particulars LF | Dr(X) cr ()
Cash A/c/Bank A/c Dr. 1,20,000 1
To Somesh’s Capital A/c 1,20,000
(Being capital brought in cash)
Somesh’s capital A/c /Somesh’s Current A/c Dr. 44,000
To Hemant’s Capital A/c 26,400 1
To Nishant’s Capital A/c 17,600
(Somesh’s share of goodwill credited to Hemant and
Nishant)
Total capital of the firm = 1,20,000 x 5 = ¥ 6,00,000
Combined capital of Hemant, Nishant and Somesh = 1,60,000 + 1,00,000 + 1,20,000 1
=% 3,80,000 =
(1+1+1)
Goodwill of the firm = 6,00,000 — 3,80,000 = X 2,20,000 =
Somesh’s share of goodwill = 2,20,000 x 1/5 = ¥ 44,000 3 Marks
12 (13 |11 Q. Monika.....cccceeeeeeerrermrnnnnsceeernennnnes 2013
Ans.
Dr. Sonika’s Capital A/c Cr.
Particulars Amount (%) Particulars Amount (%)
To Sonika’s executor | % < 4,74,500 | By Balance b/d 1,50,000
a/c By Reserve fund 60,000 V2
By Monika’s Capital a/c (G/w) 1,60,000 %
By Manisha’s Capital A/c(G/w) 80,000 %
By P/L Suspense A/c 20,000 1
(Share of Profit)
By Interest on Capital 4,500 1
4,74,500 4,74,500

Working notes:-

® Interest on capital
=1,50,000x 3/12 x 12/100 =X 4,500
® Calculation of Sonika’s share of goodwill
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=2,00,000 x3 x 2/5 =% 2,40,000
e Sonika’s share of profit
=2,00,000 x 3/12 x2/5 = X 20,000

4 marks
(NO MARKS FOR WORKING NOTES)
14 | 11 | 12 | Q. PaSS cerreeeeeeencerrrerreennnenneeseeeeeeennannnaes Sundry creditors.
Ans
Journal entries in books
of Gopal Ltd.
Date Particulars L.F. Dr. Cr.
Amt (%) Amt (%)
(i) Furniture A/c Dr. 2,50,000 1
To M/s Furniture Mart 2,50,000
(Being furniture purchased)
M/s Furniture Mart A/c Dr. 2,50,000
To Equity Share Capital A/c 2,00,000 1
To Securities Premium/ Securities Premium 50,000
Reserve A/c
(Being shares issued as purchase consideration)
(ii) Plant A/c Dr. 3,50,000
Stock A/c Dr. 4,50,000 1
Land & Building A/c Dr. 6,00,000
Goodwill A/c Dr. 2,00,000
To Sundry Creditors A/c 1,00,000
To Aman Ltd 15,00,000
(Being business purchased)
Aman Ltd Dr. 15,00,000
To Equity Share Capital A/c
To Bank A/c 12,00,000 1
(Being shares issued and balance is paid by bank 3,00,000
draft) (1x4)=
4 Marks
11 |12 | 13 | Q.Singh & Gupta....cccceuveceeirrrrrreenneen. 31" March 2013.
Ans. (a) Values highlighted: (Any two)
(i) Recognition of talent 1x2
(ii) Responsible citizen =
(iii) Environment Concern 2
(iv) Helping, caring and sharing towards specially abled people.
(OR ANY OTHER SUITABLE VALUE)
(b)
Profit and Loss Appropriation A/c
For the year ended March 31, 2013
Dr. Cr.
Particulars Amount (%) Particulars Amount (%)
To Interest on Capital: By Profit and 1,68,900
Singh’s Capital A/c 6,750 Loss A/c
Gupta’s Capital’s A/c 3,150 J 1 1
+
To profit transferred to: 1
Singh’s Capital A/c 63,600 =
Gupta’s Capital A/c 63,600 (1 2
Shakti’s Capital A/c 31,800 1,59,000
1,68,900 1,68,900
(2+2) =

Working Notes:
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Interest on Singh’s Capital = 1,00,000 x 6/100 + 25,000 x 6/100 x 6/12 = 6,750 4 Marks
Interest on Gupta’s Capital = 50,000 x 6/100 + 10,000 x 6/100 x 3/12 = 3,150
(NO MARKS FOR WORKING NOTES)
14 | Q. ON 1% APril “ 2012 the same.
Ans.
Balance Sheet of Micro Tech Ltd.
Asat ...coceeiirniinnniennnaens
Equity & Liabilities Note No. Amount Current Amount
year previous year
Shareholder’s funds : 1
¢) Share Capital 1 33,57,000
Notes to Accounts :
Particulars X
(3) Share Capital
Authorised Capital :
5,00,000 equity shares of 10 each 50,00,000 1
Issued Capital
4,50,000 equity shares of T10 each 45,00,000 1
Subscribed but not fully paid capital
4,19,500 shares of ¥10 each, ¥ 8 called up- 33,56,000 1
Less: Calls in arrears (2,000) =
Add: Share forfeiture A/c 3,000 33,57,000 Marks
15 | Q. Rajiv, Sanjeev and Jatin......c.cccccecvveeeeennnnen. to the society.
Ans.
Adjustment Journal Entry
S.No Particulars Dr Cr
Amt (%) Amt ()
Sanjeev’s Capital A/c Dr 204
To Rajiv’s Capital A/c 60 | | 2
To Jatin’s Capital A/c 144
(Being adjustment entry passed
considering Interest On drawings)
Working notes
Rajiv(") Sanjeev(’) Jatin(") Total(’)
Interest on drawings (Dr) 300 420 -- 720
Profit (Cr.) 360 216 144 2
Net effect 60 (Cr) 204 (Dr.) 144 (Cr.) --
OR Alternative Answer
Adjustment Journal Entry
Date Particulars Dr Cr
Amt (%) Amt (%)
Jatin’s Capital A/c Dr 1,656 2
To Rajiv’s Capital A/c 1,185
To Sanjeev’s Capital A/c 471
(Being adjustment entry passed
considering Interest On drawings)
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Working notes

Rajiv Sanjeev Jatin Total
Interest on drawings (Dr) 300 420 2,250 2,970
Profit (Cr.) 1,485 891 594 2,970 2
Net effect 1,185 471 1,656 ---
(Cr) (Cr.) (Dr.)
Value (any two) :-
- Help towards needy flood victims.
- Medical Aid in flood affected areas. 2
Or any other suitable value
(2+2+2)
6 Marks
16 | 16 | 16 | Q. Hanif & Jubed........cccvvveeeerrirennnen. Realisation Account.
Ans.
Dr. Realisation A/c Cr.
Particulars Amt (%) Particulars Amt (%)
To Debtors % { 3,40,000 | By Creditors 1,50,000 Y
To Stock 1,50,000 | By Bank A/c
To furniture % { 4,60,000 | Stock 65,000
To Machinery 8,20,000 | Machinery 74,000
Debtors 3,23,000 4,62,000 1
To Bank A/c
-Creditors % { 1,50,000 | By Hanif’s Current A/c/
Capital A/c (Stock) 67,500 1
To Hanif’s Current A/c or By Jubed’s Current A/c/
Capital A/c (Realisation iz { 8,000 | Capital A/c (Furniture) 1,35,000 %
Expenses)
By loss transferred to
Hanif’s Current A/c/
Capital A/c 7,42,333
Jubed’s Current A/c/
Capital A/c 3,71,167 11,13,500
19,28,000 19,28,000
6 Marks
18 | 17 | 17 | Q. Shikhar & Rohit.......cccccvvvveeennnnennn. new firm.
Ans.
Dr. Revaluation A/c Cr.
Particulars Amt (%) Particulars Amt (%)
To Machinery A/c 45,000 | By Land and Building 70,000
To profit transferred to:
Shikhar’s capital A/c 17,500
Rohit’s Capital A/c 7,500 25,000
70,000 70,000 2
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Dr. Partner’s Capital A/c Cr.
Shikhar Rohit Kavi Shikhar | Rohit Kavi
() (%) (%) (%) () (%)
To Cash 37,000 23,000 -- | By Balance b/d 8,00,000 | 3,50,000 -
A/c By cash A/c - -- | 4,30,000
To By premium for
Balance | 9,03,000 | 3,87,000 | 4,30,000 | goodwill A/c 17,500 | 7,500
c/d By general
reserve A/c
By workmen 70,000 | 30,000 1x3
compensation =
Fund A/c 35,000 | 15,000 3 Marks
By revaluation
A/c (profit) 17,500 7,500
9,40,000 | 4,10,000 | 4,30,000 9,40,000 | 4,10,000 | 4,30,000
Balance Sheet of Shikhar, Rohit & Kavi
as at 1* April 2013
Liabilities Amount () Assets Amount (%)
Creditors 1,50,000 | Cash in Hand 5,45,000
Workmen Compensation Stock 3,50,000
Claim 50,000 | Machinery 4,05,000
Capital: Land & Building 4,20,000 3
Shikhar— 9,03,000 Debtors
Rohit - 3,87,000 2,20,000 2,00,000
Kavi - 4,30,000 17,20,000 | Less provision 20,000
19,20,000 19,20,000
Working‘ Note: (2+34241)
New Ratio: _
Let fche profit of the firm =1 8 Marks
Kavi’s share =%
Remaining share =1-1/4=%
Shikhar’s Share =% * 7/10
Rohit’s Share =% * 7/10 = 21/40
Kavi’s Share =% * 10/10 = 10/40
New ratio = 21:9:10
Kavi’s capital = 4,30,000
Total capital of the firm = 4,30,000 * 4 = 17,20,000
Shikhar’s capital = 17,20,000 * 21/40 = 9,03,000
Rohit’s capital = 17,20,000 * 9/40 = 3,87,000
Kavi’s Capital = 4,30,000
18 |17 [ 17 | Q.LM&N .oooiiiiiiiiiiiiceeeeeeenn, new firm.
OR | Ans.
Revaluation A/c
Dr. Cr.
Particulars Amt () Particulars Amt (%)
To Building A/c 1,00,000 | By Land A/c 3,20,000 5
To furniture A/c 30,000
To profit transferred to
L’s capital A/c 95,000
M’s Capital A/c 47,500
N’s Capital A/c 47,500 1,90,000
3,20,000 3,20,000
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Partner’s Capital A/c

Dr. Cr.
Particulars L M N Particulars L M N
() () () () () (%)
ToN’s 1,00,000 | 50,000 | -- By Balance b/d 6,00,000 | 4,80,000 | 4,80,000
Capital A/c By L’s Capital A/c
(g/w) - -- | 1,00,000
To N’s loan - -- 8,37,500 | By M’s Capital A/c
A/c (g/w) - - 50,000
By General
ToM'’s - 1,20,000 Reserve A/c 2,20,000 | 1,10,000 | 1,10,000
current A/c By Workmen
Compensation 1x3
To Balance Fund A/c 1,00,000 50,000 50,000 =
c/d 10,35,000 | 5,17,500 By revaluation 3 Marks
A/c (profit) 95,000 | 47,500 | 47,500
By L’s current A/c 1,20,000 -- --
11,35,000 | 6,87,000 | 6,87,000 11,35,000 | 6,87,000 | 6,87,000
Balance sheet of Land M
As at 1% April, 2013
Liabilities Amount Assets Amount
T %
Capitals: Land 11,20,000
L 10,35,000 Building 5,00,000 3
M 5,17,500 15,52,000 | Furniture 2,10,000
N’s Loan A/c 8,37,500 | Debtors 4,00,000
Workmen 1,60,000 | Less provision 20,000 3,80,000
compensation claim Stock 4,40,000
Creditors 2,40,000 | Cash 1,40,000
M’s current A/c 1,20,000 | L’s current A/c 1,20,000
29,10,000 29,10,000
(2+3+3)
Working Notes: Old ratio = 2:1:1 _
New Ratio = 2:1 Marks
Remaining capital = 9,15,000+6,37,500 = 15,52,500 in 2:1
L’s capital = 10,35,000
M’s Capital =5,17,500
18 | Q. NY Ltd.uveeeeieeeeeieee e, books of NY Ltd.
OR
GY Ltdueei e, books of GY Ltd.
Ans. 8 Marks

NOTE : Full marks are to be awarded for ‘ATTEMPTING’ the question. (whether correctly or

wrongly) and it is applicable to both the options (Premium or Discount )
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Part B - Financial Statements Analysis

- - 19 | Q. Why................. state? 1 Mark
Ans. (Any one)
(a) To provide information regarding sources and uses of cash from operating, investing and
financing activities separately.
(b) To highlight change in cash position.
- - 20 | Q. Whatiis cooveerieeeieeieeeiieeee, Cash Flow Statement? 1 Mark
Ans. These are short term, highly liquid investments that are readily convertible into known
amounts of cash and which are subject to insignificant risk of changes in their values.
21 |21 |21 | Q.State.viieecieee e analysis? 1 mark
Ans. (Any 1)
(i) To measure earning capacity or profitability.
(ii) To measure solvency.
(iii) To measure financial strength.
(iv) To make comparative study.
(v) To provide useful information to the interested parties .
22 | 22 | 22 | Q. Under which ......ccccccvveerrnnnes Companies Act’1956.
Ans.
S.No. | Iltems Sub — Heading
1 Capital reserve Reserve and surplus
2 Bonds Long term borrowings
3 Loans Repayable on demand Short term borrowings 72x6 =3
4 Vehicles Fixed Assets- Tangible Marks
Assets
5 Goodwill Fixed Assets-Intangible
Assets
6 Loose tools Inventories
- - 23 | Q. From the following .................. Services Ltd.
Ans.
COMPARATIVE STATEMENT OF PROFIT & LOSS
For the years ended 31* March’2012 and 2013
Particulars Note | 2011-12 2012-13 Absolute Percentage
No. () () Increase / | Increase /
Decrease Decrease
Revenue from 18,00,000 | 20,00,000 2,00,000 11.11%
Operations } 1
Add other income 6,00,000 | 4,00,000 2,00,000 33.33%
Total income 24,00,000 | 24,00,000 --- -
1
Less Expenses 17,00,000 | 19,00,000 2,00,000 11.76%
Profit before Tax (Il — 7,00,000 | 5,00,000 (2,00,000) (28.57%)
1
Less Tax @ 50% 3,50,000 | 2,50,000 | (1,00,000) (28.57%) } 1); _
4 Marks
Profit after tax 3,50,000 | 2,50,000 | (1,00,000) (28.57%) }
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24 |24 |24 | Q. The qUICK...cceeeeeecciiiiieee e, amount due.
Ans. (a) ”
(1) Decrease %
Reason: Liquid assets will decrease with no change in current liabilities
(2) No change in the ratio %
Reason: Increase in cash and decrease in debtors with no change in liquid assets. V2
(¥x4) =
2 Marks
(b)
Proprietary ratio = Share holders funds / Total assets =~ 1,00,000 / ~4,50,000 = .22:1 or 22% 1
Shareholders funds = Current assets + Non current assets — Long term borrowings — Long term
provisions — Current liabilities %
= 90,000 + " 3,60,000 — " 2,00,000 - "1,00,000 - 50,000 =~ 1,00,000 y
Total Assets :\Current A\ssets+ Non current assets 2 Marks
=90,000 + 3,60,000
="4,50,000 (2+2) =
4 Marks
25 | 25 | 25 | Q. Prepare a Cash flow Statement ...............
Ans.
Cash flow statement
For the year ended 31* March 2013 as per AS-3 (Revised)
Particulars Details (%) Amount (%)
Cash Flows from Operating Activities:
Net Profit before tax & extraordinary items 15,000
Add: Decrease in trade receivables 13,500
Decrease in inventories 1,500
Less: Decrease in trade payables (66,000) 2%
Cash used in Operating Activities (36,000) (36,000)
Cash flows from Investing Activities :
Purchase of fixed tangible assets (47,500)
Purchase of non current investments (3,000)
Cash used in investing activities (50,500) (50,500) 1%
Cash flows from Financing Activities:
Issue of share capital 50,000 50,000 !
Cash from financing activities
Net decrease in cash & cash equivalents (36,500) T
Add: Opening balance of cash & cash equivalents 1,17,500 1
Closing Balance of cash & cash equivalents 81,000
2%n+1
%+l +
1)=6
Marks
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PART C
Computerised Accounting

21 |20 | 19 | Q. Whatuverrrcieieeeies Database?
Ans . A relational database utilises two or more tables containing data arranged in rows and 1 Mark
columns.
19 | 21 | 20 | Q. What........ analysis?
Ans. A process which may entail database designed to identify and elicit needed information 1 Mark
from those with the domain of knowledge.
20 |19 |21 | Q. What. e Accounting System?
Ans. A ‘data’ or data element is the smallest named unit of data in the information system. 1 Mark
These are facts and may consist of number, text etc.
OR
The raw fact (as input) for any business application is known as data.
22 |22 |22 | Q. Explain.....ceceiieee, System.
Ans. Advantages of Computerised Accounting System (Any two)
1. Timely generation of reports and information in desired format. 5
2. Efficient record keeping.
3. Ensures effective control over the system.
4. Economy in the processing of accounting data.
Limitations (Any one):
5. Faster obsolesce of technology necessitates investment in short period of 1
time.
6. Data may be lost or corrupt due to power interruptions.
7. Data are prone to hacking. 2e1c 3
+1 =
Un-programmed and un-specified reports cannot be generated. Marks
23 |24 | 23 | Q. Whatueereireceneies conditions?
Ans. Data validation is a feature of spreadsheet which imposes a restriction on the type of 1
data to be entered in a cell.
(Any two)
a) Setting limits with a formula: Only those entries will be allowed which will have true
values as per formula. 1%x2
b) Prevention of duplicate entries. =
c) Setting the range of figures.
d) Using or adding spaces before or after the text.
e) Preventing entry of dates that fall on holiday or weekends. (1+3) =
4 Marks
24 | 23 | 24 | Q. Differentiate ....coccovevevreneresece e four basis.
Ans : (Any four)
Basis Desktop Database Server Database
1. Application Single user Multiple Users
2. Additional Provision | Not present Present 1x4=4
for reliability Marks
3. Cost Less Costly Costly
4. Flexibility regarding Not present Present
choice of
performance front
end application
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5. Example MS Access ORACLE,SQL
6. Suitability Small office, home office Large Organisation
25 | Q. CalCUlate. it s amounts of :
Ans .

a) Travelling allowance =IF(B1>25000,0.30*B1,0.25*B1)

b) Loan payable = IF(B1>25000,0.30*B1,0.25*B1)

c) Net salary =SUM(B1,C1—D1)

2x3 =6
Marks
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